Pre-Calculus 11

Chapter 4 Review Assignment Name: @

1. Graph each eque}I‘Ei?n and then answer the given questions.
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2. Write the equation of the quadratic given the following.
(a) Vertex (O 3) passmg through the point (-1, 2)
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(b) Vertex (-5, -2) passing through the point (-3, 0)
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(c) Passing through A(—4,—6) with x —intercepts —3 and —1.
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(d) State the equation of a quadratic in vertex form if the axis of symmetry is x =-2 and
P

the range is y = —1 and passing through the point (1, 2).
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(e) Passes through A(1,—10) and x —intercepts of 0 an
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(f) x-intercepts of —2 and 3 and range y > —6.25 )
0=a(3-0:9) —6.25
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3. Express each equation in standard form.
(@ y=x"—6x+8 L (-6)=-3
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4. Brooklyn has 24m of fencing. She wants to build a rectangular enclosure for her dog
with the maximum possible area.
(a) Write a function to represent the rectangular area of the enclosure. Sketch the
function.

12 - Avea=x (12 - )
E w\va\od@ A=tyx -x* L=
Mexhed (- A=x(12 - %) - ALY L} 2L
A-INRVCEPYS: X0  x=\2 n p( ’L(?xx'\%,:(\*% W,
. _ A= - -\
s of Symmetvy ‘Q*I\’L = b Ao - (X -0)" +2b
when X =k yevrex: A =b12-b)
f=Blorm®

Nevkex s (o,%6)
(b) What are the dimensions of the enclosure that achieve Brooklyn’s goals? What area
will be available to her dog?

X=lo  DimensionS:\bm by b
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5. A student club is planning a fundraising car wash. Last year they charged $10 per
vehicle and washed 120 vehicles. They would like to earn more money this year. For
every $1 increase in price, they know they will wash 5 fewer vehicles.

(a) Write a quadratic function to model this situation using v as the number of vehicles

and R as the revenue. R= -5 (#*\4%) +1200 ._lz () = T
R= (00 ) (120 -5%) 0= -5 (x* -1 419 -4 A)rigag LT =4
~_
= - - 2
R=1200 = S0% v12G+ -5% A==5 (% *-14xrH?) 17205%1200
— N
(b) Determine the best price to charge for the car wash and the revenue expected at that
price. ~ _q
57 &1 incveases
> Rest Pri(R = 1OY] = = Mok Revenye (RIS
6. Rylee has 12m of edging material to place along the three sides of the garden to separate
it from her lawn. What dimensions will give the maximum area for the garden?
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